oy (x) = X2 DyHKUMK yrroB (06061 eHHbIE KOOPANHATHI)

b5(x) = In(x + 1)

O3(x) = 2~ 1
1
b= \/—2 AnuHbl 3BeHbEB
V3

Cadre := 100 [ncKpeTHOCTb TpaekTopun
Long := 500 Bpems oBmxeHus
k:=0..1 Y1

3 FRAME CouneHeHue 1

"~ Cadre

x1(t) = Iq -cos(el(t)) Xo(t) = xq (1) + I cos(az(t) + el(t)) x3(t) = Xo(t) + I3 - cos(ﬁg(t) + 6y(t) + el(t))

yq(t) = 1q -sin(el(t)) yo(t) = y1(t) + 12 sin(ez(t) + el(t)) y3(t) = yo(t) + I3 - sin(&s(t) + 6y(t) + 91(t))

Zyiq = if(k = 0,0,x1(a)) Zy43 = if(k = 0,x1(a),x2(a)) Z)i5 = if(k = 0,x2(a),x3(a))
1
Link2(k, a) = == [(y2@ - y1(@) - 2ks3 + x2(2) - y1(2) = x1.(3) - Yo (a)]
2\ =21
1
Link3(k. @) = -~ -[(Va(a) - ¥(a)) - 2ks5 + X3(a) -Y2(a) ~ x(a) - Y3(a)]
3\ =22
_ 1
Y0 = o [(va® - y2(0) - x3(1) + x3(0) - yo(t) = (0 - y3(1)]
fe 0 1 Long

" Cadre ~ Cadre




